Worksheet 16 - Solutions

(i)
$$\vec{F}(x,y) = \langle 2x^3y^4 + x \rangle, 2x^4y^3 + y \rangle$$

(ii) $\frac{\partial M}{\partial y} = \partial x^3 y^3$
 $\frac{\partial N}{\partial x} = \partial x^3 y^3$
 $ightarrow = \partial x^3 y^3 + x \Rightarrow f(x,y) = \frac{1}{2} x^4 y^4 + \frac{x^2}{2} + \partial (y)$
 $ightarrow = \partial x^4 y^3 + y$
 $ightarrow = \partial y^4 y^4 + \frac{x^2}{2} + \frac{y^2}{2} + C$
(c) $\int_c \vec{F} \cdot d\vec{r}$; $\vec{F}(t) = \langle teos(\pi t) - 1, foun(\frac{\pi t}{2}) \rangle$; $0 \le t \le 1$
Since \vec{F} is conservative, we can apply FTC for kine integrals:
 $\int_c \vec{F} \cdot d\vec{r} = \int_a^B \vec{F} \cdot d\vec{r}$
 $ightarrow = f(r_2, 1) - f(-r_1, 0)$
 $ightarrow = f(r_2, 1) - f(r_1, 0)$
 $ightarrow = f(r_2, 1) - f(r_2, 1)$
 $ightarrow = f(r_2, 1) - f(r_1, 0)$
 $ightarrow = f(r_2, 1) - f(r_2, 1)$
 $ightarrow = f(r_2, 1) - f(r_1, 0)$
 $ightarrow = f(r_2, 1) - f(r_2, 1)$
 $ightarrow = f(r_2, 1) - f(r_2,$

$$(4) \vec{F}(X,y,z) = \left\langle e^{X}\cos y + yz, XZ - e^{X}\sin y, XY + Z \right\rangle$$

$$(4) \vec{F} = \left| \begin{array}{c} \vec{i} & \vec{j} & \vec{k} \\ \partial_{X} & \partial_{y} & \partial_{z} \\ e^{2}\cos y + yZ & XZ - e^{X}\sin y & Xy + Z \\ = \left\langle X - X, -(y - y), (Z - e^{X}\sin y) - (-e^{X}\sin y + Z) \right\rangle = \vec{0}$$

(b)
$$\vec{F}(x,y,z) = \nabla f$$

$$\frac{\partial f}{\partial x} = e^{x} \cos y + yz \Rightarrow f(x,y,z) = e^{x} \cos y + xyz + g(y,z)$$

$$\Rightarrow \frac{\partial f}{\partial y} = -e^{x} \sin xy + xz + \frac{\partial g}{\partial y} \Rightarrow \frac{\partial g}{\partial y} = 0$$

$$(given) = -e^{x} \sin xy + xz \qquad \Rightarrow g(y,z) = h(z)$$

$$\Rightarrow f(x,y,z) = e^{x} \cos y + xyz + h(z)$$

$$\Rightarrow \frac{\partial f}{\partial z} = xy + h'(z) \Rightarrow h(z) = z$$

$$(given) = xy + z \qquad \Rightarrow h(z) = \frac{z^{2}}{2} + C$$

$$f(x,y,z) = e^{x} \cos y + xyz + \frac{z^{2}}{2} + C$$
(c)
$$\int_{(0,0,0)}^{(0,T,1)} \vec{F} \cdot d\vec{r} = f(0,T,1) - f(0,0,0) = (-1 + \frac{1}{2}) - (1) = -\frac{3}{2}$$
(d)
$$\int_{C} \vec{F} \cdot d\vec{r} = O \quad \text{for any loop } C, \text{ frince } \vec{F} \text{ is conservative.}$$

$$\begin{split} & \overbrace{f}^{(x,y,z)} = \left\langle 2\cos y, \frac{1}{y} - 2x\pi hy, \frac{1}{z} \right\rangle \\ & \frac{\partial f}{\partial x} = 2\cos y \Rightarrow f(x,y,z) = 2x\cos y + g(y,z) \\ & \Rightarrow \frac{\partial f}{\partial y} = -2x\pi hy + \frac{\partial g}{\partial y} \\ & \Rightarrow \frac{\partial f}{\partial y} = -2x\pi hy + \frac{\partial g}{\partial y} \\ & = -2x\pi hy + \frac{1}{y} \\ & = -2x\pi hy + \frac{1}{y} \\ & = -2x\pi hy + \frac{1}{y} \\ & \Rightarrow \frac{\partial f}{\partial z} = h'(z) \\ & = \frac{1}{z} \\$$